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Aufgaben-Quickname: 5651
Aufgabe 1
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze.
4 _ 8 _ 8 5 _ 10 _ 5 2_6_6
)2 5=13=15 b2 g=1u=7 3-7=7=7
To_ 14 _ 7 3 _ 6 _ 3 5 10 _ 5
O2-g=1w=5 92 3p=-w-17 H2'%=1=5
714 _ 14 1 _ 8 _ 8 : 3 12 _ 12
§)2°'15=15 = 19 )8 15=15= 19 D4 - {5=15 =15
- 7T 14 _ 14
N2 - 7=1m=17
Aufgabe 2
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Erganze.
1 3 3 1 3 3 1 2 2
a)3-5=5=3 b)3-1=1=1 )2-3=3=3
1 _7_7 3_6_3 1 2 1
O)7-5=95=73 )2:3=35=1 2 p=1=5
1 3 _ 3 1 2 _ 1 . 2 4 _ 4
93 10=1 =10 h2-3=§5=1 )2-7=7=7
1_3_3
N3-1=1=1
Aufgabe 3
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze.
12-3=0=b=7  1pH20-3=0=L=15
8 _ 40 _8 _ 13 12 228 _ 228 _ 908
S p=p=5=l =37 =77 =201
9 _ 261 _ 261 __ 8 29 _ 812 812 2
3 72 36 11 44 44 2
B24-5=5=T=30 Wd-7=5=7=07
: 17 _ 119 _ 119 _ 195 29 _ 783 _ 783 _ orl3
D7T-5=% =% — 9 D27 5 =195 =95 =355
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Aufgabe 4

Quick:
5651

Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze.

)19 -2 =0 =0-151 D) 9.1 =242 =28 =11
0)6-7=2%=2=33 42711 =8 =8 — 40}

)28 5 =51=3=3 f28. 30 =40 11— 17

02313 =F=P-s)  wsP-H-Uoud
h21- 190 =0 =30 =33L  13-15 =3 =2 =145

Viel Erfolg!
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